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W~ 1/ PART — 1
9 {968 T R / CHILD pEVELOPMENT & PEDAGOGY
R3S : R gst @ gt 33 & fe gad o AT IR

Direction : Answer the following questions by selecting the ™ost appropriate option.

1. Fifee & @ -9 e w I 1. Which of the following is not a
st & o frgy 78 2 7 subordinate law given in 'trial and crror' ?
(1) Tg-srgferar & fram (1) Law of Multiple response
(2) sffy @ fem (2) Law of Attitude
(3) vy & frrm (3) Law of Exercise
(4) s IR # Fam (4) Law of Response by analogy

2. AN & 9gER e WO § 2. According to Piaget, the age range of
IR e e aiRe & the substage 'mental representation', of
oy R the sensory motor stage is :

(1) ¥ 1 A (1) Birth to 1 month
(2) 498 W (2) 4 to 8 months

(3) 8812 W (3) 8to 12 months

4 1893 a8 (4) 18 months to 2 years

3. wase Rew PE @ o g 3. The psychologist who tried to develop
Aoareh & Residt & wE HQ §U. a learning theory using principles of
Igfrm Rreia fafm &@ @ topology (A branch of mathematics) is :
for, @® R
(1) % AT (1) Kurt Lewin
(2) Remis s (2) Sigmund Freud
(3) fomm s (3) William James
@) R (4) Skinner

Level-2/1210 P.T.O.



1B]

4]

4. 3o flo zage o W, 2016 3

wEr PeEfm 3 & @m Rl
AT AR T F I 7 B

(1) ofas wa & e
(2) wHRs e
(3) gheafia ams
(4) 7 & 7

. T A owE @ RE A @
w2 3 f B o B amemn 3

(1) T B
(2) A S
(3) 5% S
) 7 A 7 T

. FE 3 T @ T A e @
T R e AW A sy
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(1) T T &
)=
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) maH g @

7. FiFm™ 3 A @ em Ak

(1) W T o
(2) W FrE e &
(%) o wwE s §
) 3T & A 9 A
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12. @& @ wa @ qen gwn kR g
o ¥ g o s ¥

() wivw &
() R ®
(3) andE F
() swata F

1. Frafe 3 ] d-m mw oo A ™

FERRUER R RO
() e s o

Q) Wit s

(3) ¥ g

) Fasdemens g

14, TEACCH" Frdam sittom: e s
2 aw & fmw @ R sdw R o
wmk?

() = =i gws

() ¥ 7w

() w7 T
) e

15. 7= 3 & R a= Y i Rew
T ¥ R ?

(1) Fgaat 3
(2) f2 3
3 () ™ 2)
4) @ APt aA

Level-2/1210

16]

S

12,

15.

. Which of the following is nef an

example of children with special needs
as per RPWD Act, 2016 ?

(1) Acid attack victims

(2) Cerebral palsy

(3) Children with visual impairment
(4) None of these

Testing used during instruction to aid in
planning and diagnosis is known as :
(1) Formative Assessment

(2) Summative Assessment

(3) Normative Assessment

(4) None of these

The teacher said Rekha that she is not
allowed to participate in Game period
as she has not completed her home
work. It is an example of :

(1) Negative reinforcement
(2) Punishment
(3) Positive reinforcement

(4) Tangible reward

. The ability of classification develops at :

(1) Sensory motor stage

(2) Preoperational stage

(3) Concrete operational stage
(4) None of the above

A three year old boy says, “The sun is
angry". It is an example of :

(1) Animism
(2) Egocentrism
(3) Criticism
(4) Intuition

. Which of the following is mor a type of

Intelligence as given by Gardner ?
(1) Musical intelligence

(2) Spatial intelligence

(3) Interpersonal intelligence
(4) Analytical intelligence

. "TEACCH" programme is mostly used
1o teach children with :

(1) Hearing impairment
(2) Gifted students

(3) Intellectual disability
(4) Autism

Which of the following studied moral
development in children ?

(1) Kohlberg

(2) Piaget

(3) Both (1) and (2)

(4) None of the above

. gfeafi awd ¥ fom T A

APl waite T 7

(1) @A st

) 77 awEi

() wE

@) vH d @

e 1 g @ TR -
(1) ¥ 450 & T

(2) Fo dlo aEFa 3 T
(3) w7E & 7

4) aEed &

. e 3 @ P T @ g

(o = =) Je R 7
(1) was

(2) Rt

) fEm

4) 19 @5

. Feriem # A B e 3 daem

w3 whE A g
(Socially Mediated Process) 3 ®9 ¥
Tk

(1) ¥ g R

(2) = sfem faam

(3) T fem

(4) P sfem et
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. Which type of teaching maierial is most

effective for a child with visual
impairment ?

(1) Video based

(2) Visual material

(3) Tactile based

(4) None of these

Modelling is the concept given by

(1) Albert Bandura

(2) J.B Watson

(3) Freud

(4) Vygotsky

Which of the following has viewed the
child as Tabula-Rasa’ (Blank-Slate) ?
(1) Freud

(2) Piager

(3) Skinner

(4) John Locke

Which of the following theory viewed
cognitive development as @ socially
mediated process ?

(1) Socio Cultural theory
(2) Social Learning theory
(3) Psycho Sexual theory

(4) Sign Leaming theory

P.T.0.

Providing salary to the tcacher at the
end of every month, which schedule of
reinforcement it reflects ?

(1) Fixed ratio

(2) Variable ratio
(3) Fixed interval
(4) Variable interval

Who proposed that all children have
language acquisition device ?

(1) Piaget

(2) Chomsky

(3) Vygotsky

(4) Dan Slobin

Who proposed  Advanced Organizer
Model of teaching ?

(1) Bruner

(2) Pavlov

(3) Ausubel

(4) Piaget

Multiple  Imelligence  theory  was
proposed by

(1) Alfred Binet

(2) Jean Piaget

(3) Harward Gardner

(4) Jensen

P.T.O.
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28.

According to Freud the age range of
‘Oral psycho-sexual
development is ©

stage’  of

(1) Birth to one year
(2) Birth to two years
(3) Birth to three years
(4) None af these

The long term memory for ‘how to do
things' is known as

(1) Procedural memory

(2) Episodic memory

(3) Immediate memory

(4) Sensory memory

The triarchic theory of successful
intelligence was given by

(1) Spearman

(2) Binet

(3) Thomdike

(4) Stemberg

. The law which is nor a part of Gestalt

views of leaming is :
(1) Law of similarity
(2) Law of proximity
(3) Law of closure
(4) Law of use

Which of the following is an example of
Developmental Disorder ?

(1) Blindness
(2) Hearing impairment
(3) Intellectual disability
(4) Leprosy

Which part of the brain supports

erammatical processing and language
Pproduction ?

(1) Broca's area
(2) Frontal lobe
(3) Perietal lobe

(4) Occipital lobe

- Programmed leamning is based on the

work of :
(1) Skinner
(2) Pisget
(3) Paviov

(4) Bandura

-
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24, wF aiwdr zEEr & S, fres agm 24. After occurrence of a  desirable
s Fed) B fam 3 A f % behaviour, the teacher says 'very good'
10 the child. She has used :
(1) smfe gdeE # (1) Primary reinforcer
(2) fadvs e & (2) Secondary reinforcer
(3) T S @ (3) Negative reinforcement
(4) T A § B¢ (4) None of the above
25. gfiftafei o1 feada & a0 25. According to Ecological system theory,
o dx & gt ¥ 7 which system includes 'values' ?
(1) = @ (1) Micro system
(2) g @ (2) Macro system
(3) Hl (Meso) @ (3) Meso system
(4) T (Exo) & (4) Exo system
26 @ @ # zm aEd PR A 26. Using our current ‘schemes’ to interpret
e A B Fwed B the external world is known as :
(1) aereiEseT (1) Assimilation
(2) ATEIHTT (2) Accommodation
(3) ¥w== (3) Organization
OREGEE: &0 (4) None of these
27. Fwifea A & d-w o it o 27. Which of the following is mot an
g T %7 example of acquired motive ?
(1) sifmfr (1) Attitude
@) w (2) Interest
(3) P (3) Curiosity
@ ™ (4) Hunger
Level-2/1210 p.T.O.
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53. ‘She could not figure out the theme of

the play clearly.’
I'he underlined phrasal verb means :
(1) comprehend
(2) examine
(3) enjoy
(4) draw

54. Fill in the blank by choosing the correct

option.

“Asha and 1 on M. G. Road
when we saw an old man walking
slowly.”

(1) were shopping

(2) have been shopping
(3) had been shopping
(4) shopping
55. Choose the correct Passive Construction
for the sentence given :
"Mrs. Sharma knows me."
(1) I am known by Mrs. Sharma.
(2) I was known by Mrs, Sharma.
(3) 1am known to Mrs. Sharma.
(4) I'have known to Mrs. Sharma.

56. Choose the corrcct word for the
following expression :
One who is present everywhere

(1) Omnipotent  (2) Omniscient

(3) Omnipresent (4) Omnission

Level-2/1210
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a1,

42,

43.

44,

45,

ot fon # o fa B 7
(1) ugugmwe

(2) Fraswar

() 3

(4) T

N g (vada) ae

() =n )

() v 4y s

oW @ o wen’ aes fEn wdem
& e &3m ?
(1) Fawaas wEm
(2) Promaras s
(3) Fremmams wtam
(4) gETETEs FEEE

- o wifm dow o B 7
UE: () =
3) M (4)

e et # & AT w0 o B
(1) 'y e @ B
) ‘g dvli @t &
(3) ‘7w @ k)
(4) ‘7 iffaE vt &

Choose a suitable connector for the
blank from the options given :

"My father bunt his hand ...... he was
lighting a candle.”
(1) but

(3) because
"Maharana Pratap fought bravely and

won the war."
The underlined word in the sentence has
beenusedasa:

(1) Noun
(2) Verb
(3) Adverb
(4) Adjective

(2) while

(4) since

‘Agreement’ is a noun with 'ment’ as a
suffix. Which of the following options
will become a noun if we add the suffix
‘ment' to it ?

(1) amuse

@) extort

(3) correct

(4) colour

Choose the word which is spelt
correctly :

(1) comittee

(2) committe

(3) committec

(4) commitce

: A a8.
New EPinro.

1131

18]

[ 330t/ ENGLISH ]

46. "Dancing is her hobby."
The underlined word is used as a
(1) verh (2) perund

(3) participle (4) adjective

47. Choose the most appropriate modal for

the hlank

She swim for hours at the age of
cight,

(1) can (2) may

(3) might (4) could

my sister.”

The underlined words arc a :
(1) Noun Clause

(2) Adjective Clause

(3) Adverb Clause

(4) None of the above

49. Choose the most appropriate form of

indirect speech for the given sentence :

He said 1o her,
reasonable person.*

(1) He said to her she is a very

reasonable person.

(2) He told her that she was a very

reasonable person

(3) He told to her that he is a very

reasonable person.

(4) He said 1o her that she is a very

reasonable person.

Level-2/1210

“The girl who is wearing a red ribbon is

"you are a very

Direction : Answer the following questions by xrleclfgyhv most appropriate oplion
selecting I

50. Fill in the blank with the appropriate
preposition.

He lost all his property because of his
addiction drinking and gambling.

(1) with
(2) in
3) 1

() of

51. "Business falls off during summer

months."

“The underlined phrasal verb means
(1) to decline

(2) to grow

(3) toincrease

(4) to disappear

52. Fill in the blank with the appropriate

option :
"1 paid the bill but the cashier did not
givethe ... ¥

(1) receipt
(2) receive
(3) receiving

(4) received

IB]
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(AT A, dieE S T qEeg §F O SR/ QUANTITATIVE
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Py - Bt 27 3 37 8 @ e #a@ o T g
Direction : Answer the following questions by selecting the most appropriate option

6. AGI U B# I A% LB
9w A & sm F R ofwa aRe
%7

61.

If income of A is 20% less than income
of B. How much percentage is B's
income more than income of A ?

(1) 20% @) 25% (1) 20% 2) 25%
2 1 2 1
= 4) 33-% 3) 16= <
G) 163% @ 333 6) 163% @ 33%
62 Amsjmm AR IWMERNOS 62. How many 9's arc there which are
wIAE? followed by 9 in given scrics ?
| 98 199, 1
m?2 2 4 m?2 ) 4
3 s @ 6 @5 ) 6
63

“-@hﬂiﬂ‘!ﬁiﬁ‘!ﬂ;mv
k| A F A A W W FE
¥

7

[0} 3 fe &

@) 21 e &
R

3) ;hﬁ!ﬂ

) ‘;ﬁmﬂ

Level-2/1210

% th part of a bucket can be filled in one
minute. Rest part of the bucket can be
filled in :

m % minutes

(2) 21 minutes

.
3) 3 minute

@) ; minutes

P.T.0.
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(3) 9705
4) 9505
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70. 7 64 & 9w w AnA fl 24
gd‘g?mw(@g-faﬂmﬂ

m2
)
3)
4)

A

7. feEm R R
(1) st
) =
(3) 7
(4) 1T

72, o & fromd R P FEm B

m 6
2 8
©) 10
@ n
73. T GRASP 3T INOPQ %= & o

¥ BROWN 1 RNSTU 32 By oy
¥ SPARROW 7 3z fem mim

(1) PQONNST !
|
|

(2) PQONNOT
(3) POQNNSU
(4) PQONNSU

Level-2/1210
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84. A number, when divided by 8. 12 and
15, gives always remainder 5 Then
number is -

(1) 9505
) 9605
3) 9708

(4) 9805

65. Filﬂlh:!mlleﬂlhnbnsn:hlllifili:
Iddtdlomnf!quﬂtsol‘?md 10,
Mmpk‘esq\.euobu'-rd

mo
Q3
(3) 8

@) 15
e

m 9%

@ |o%

) |o%

1
4) 13~
()132

70. Find the smallest number such that by
multiplying it with 24, a complete
square number is obtained -

M2
@3
3) 4
@ 6

71. Find the odd-one :
(1) Oxygen
(2) Ice
(3) Water
(4) Steam

72. The number of triangles shown in the

figure is : 2

6
2) 8
3) 10
4) 12
73. If GRASP is coded as INOPQ,

BROWN is coded as RNSTU, then
SPARROW will be coded as -

(1) PQONNST
(2) PQONNOT
(3) POQNNSU
(4) PQONNSU

@2 n
3) 17

“@ 14

69. hwiﬁnh—mhama:gn?
(l)E
o2
@ —=

@ —
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I

@ Bt d § @ R 7
(1) Fremt @@ B
(2) Frept 7w 1
(3) Frept e B
(4) &1 & 3 7
75. RA M o 4 gv omm @R @
wefin wr ®, sma el @ wify
Fa & ool mier @R 3

nﬁhmh‘:‘twnmmﬂm
A B o Fd R, @ R man &

@nn
%

s 27
3) 4 @) 6

76. 3 ¥R FRver 3 A A s
g A @ Hem k-

) 14
@15
G) 13
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67. Average of cight numbers s 12 1f each
number is increased by 2. then average
of new numbers is

I3
@ 12
G)1s

@) 14

68. va@ymmbusmlhu:fm 1o
Immhmmmw&ﬁsibkb,q?

ms
@n
G

@) 14

69. Which of the following fraction is
greater than 1/3 2

27
b i
()82

20
o) ok
()51

1B]

74. Statements : . A triangle has 3 angles.
11 A square has 4 angles

Conclusion : A polygon has many
angles.

Then which of the following is correct ?
(1) Conclusion is correct.
(2) Conclusion is wrong.
(3) Conclusion is not logical.
(4) None of these

75. In given figure, circle represents rich
people, rectangle represents
burdworkiing: ‘aud. tringle

rural people. Then rural people who are
hardworking but poor. are indicated by :

Gﬁn

5

ms @27
3) 4 4) 6

76. The maximum possible number of
Sundays in 3 consecutive calendar
months is

I 14
@ 15
3) 13
) 12

P.T.O.
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@ frzrm
@3)

(4) Hg=eET

80. 313 FrAgTE SUER Fefvew A%} [
e T o
() = ) 9"

) widy (4) I

Level-2/1210

77. A is brother of B, B is wife of C, C s
son of D and D is wife of E. What is E
oB?

(1) Son-in-law
(2) Father-in-law
(3) Brother-in-law
(4) Mother-in-law
78. There arc seven numbers. Average of
first four numbers is 4. Average of last

four numbers is also 4. Average of all
seven numbers is 3. Find the fourth

number :
m 4 @3
B n w7

79.  Find the missing number in given square :

5 [25]18
1510} 12
20|52
m1s @ 10
3) 20 “) 25

80. Find the missing term of the series
2217.32,2, 71
() 47
@) 52
3) 57
4) 62

86. Where has the Haryana govemnment
organised Pravasi Haryana Divas in
20177

(1) Ashoka University, Sonipat
(2) Kingdom of Dream, Gurugram
(3) Pinjore Garden, Panchkula

(4) Vigyan Bhawan, New Delhi

87. The Math (Monastery), which was
rejuvenated and chosen as main center
by Baba Mastnath, was :

(1) Kansrati
(2) Asthal Bohar
(3) Pehwa

(4) Jalandhar

88. The tomb of Bu Ali Shah is situated at :
(1) Hissar
(2) Yamunanagar
(3) Panipat
(4) Jind

89. In which of the following locations, a

National Park is situated ?
(1) Sultanpur

(2) Bhindawas

(3) Nahan

(4) Abubshahar

90. The partner Nation in 31st Surajkund

International Crafts Mela was :
(1) Egypt (2) China

(3) Thailand (4) Japan

l21]

81. #ftaen & ddt fum ww & Fwem
(Pt whm) ¥

(1) Fwh
@) FaT aw
» A F. e
(4) T arEg
82. gfarm # 8 A T d sefm
LOEA N
(1) s
(%) wm7

(2) wfed
(4) wrEd

83. ‘7 YEeEE ey oG TR
s W’ owfean &

(1) e &

@) foarft 3

3) W A

(4) gz 3

84. 2011 & wE B e &

e v B (s o fadt #) o

(1) 478 @) 5713

(3) 385 (@) 325

85. A 4 gun sl Fo oftdeen
e & m o B

(1) gt §
@ wwg 3
(3) wivar A

(4) TP &

Level-2/1210

123)

IB]
. The Deputy Speaker of 13th Legislative
Assembly of Haryana is *
(1) Kuldeep Sharma
(2) Kanwar Pal
(3) R.K.Nandal

(4) Santosh Yadav

The river of Haryana, which originates
from Rajasthan, is :

(1) Markanda  (2) Sahibi

(3) Ghaggar (4) Saraswati

The Technological Institute of Textile
and Science' is situated at .

(1) Gurugram
(2) Bhiwani
(3) Rohtak
(4) Panchkula
. As per the Census-2011, the population
density of Haryana is (in per squarc k.m.) :
(1) 478 ) 5713
(3) 385 (4) 325

The first Nuclear Power Project of
Haryana is being set-up at -

(1) Gorakhpur
(2) Kakroi
(3) Sampla
(4) Yamunanagar
P.T.O.

[B]

WIT=~1V/PART = IV
T / MATHEMATICS

Pl : Pl sl @ gt 33 @ e 590 afer e g
Direction : Answer the following questions by selecting the most appropriate option

91 33 et & AR WA R 1) e §
R g @ avar @ P k) oo
sfwra quaT ¥

(1) 25%
@ Bi%
(3) 50%
) 5%
92 (7-4/3) = wigw amw b
() £@2+43)
@ £@-V5)
G) £(¥2-3)
@) £(2+3)

9.

By selling 33 meters of cloth, A gets
gain equal 1o selling price of 11 meters
Gain in percentage is equal 10

) 25%

@ 34%

(3) S0%

@) 75%

92. Sq«mroolor(ﬁhﬁ) is equal to

(1) £@+43)
@ t2-V3)
G) £(32-3)
@) £(¥2+3)

T B 3 Y FIWSPACE FOR ROUGH WORK

Level-2/1210
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B
18) " 125 18
8. Mt A A e R 9. \vh-c:. of the following fraction is the 95. TR BRI 1 (20 + )+ 2+ (16 + §) x 5. Silve s 120 +-8) o/ 24/ (160 ) %:2
\ Teast ? 24(10+5)x(3+2)= (10+8)x(3+2)-
i m o @ n Ho 2 12
@y oS [ y 12 o) @ nr
T | M3 ) 15 “) 18 @) 15 @ 18
@ M & 0 96. uw @Kt & 20 A 60 FA A ¥y 96. A person got 20% profit by selling 20
T} T} WA 20% F AN G 60 TR A items in 60 rupces. How much items did
@ 1 I Rt qeqd wtd 7 he buy in 60 rupees ?
3 OB 2 @ 24 m 2 @ 4
@ 25 | " 2 3 25 ) 26 3 2 ) 26
26 % 97. % -1 o 2 WHE xP +bric=0 97. If -1 and 2 are roots of the equation
o4, 2 wosl an v 48 % @ @ | 94, The product of two numbers i 48. The B d AT d: ©4brec=0. then cisequil 1o
71 w100 koo AR el & sum of their squares is 100. Sum of M1 @2 m1 @2
dny g d these two numbers is equal to : @ -1 -2 @ - @ -2
98. 'gitay v w ot b - 98. Meaning of the word Heurisco' is
[ORE] m 14 (1) s @ (2) g (1) Toknow  (2) To think
(2) 16 @) 16 DR () g (3) To leam (4) To discover
i 99. g 177 18 A Rwibw A W 99. The remainder obtained when 17°% is
@ 19 3) 19 B, @t v s A divided by 18, is :
@1 @ 2 m1 @ 2
4 4 “@ 24
RGN @ 17 @) 16 @ 17 -
18] 126
100. b6 a7 e n? ot g 2ub-bt W
@ 100, e " 2 5 127]
oF P & o expression x4 2u4pt a? 102, % G i 1
] : / . 60 ”
+2ah b has one factor as : 10 R b “:m:d\‘;mm @ 102 The average weight of 60 students i o
0,5 5565 R b o S0 class 15 40 kg The average weight of
({) 5 ot mﬂﬂﬁm & v a0 boys i 50 kg and average weht of
@ xiy-aih wnar: qn(Dp . ® v B8 is 30 kg The number of boys and
@ xip-arp RN irls respectively are equal o
3) x-y-
X-y-a+h O Sy (1 25,35 (1) 25,38
@ xiyeas @) 35,25
- ,}',ﬁ' a ;;ﬁ T (2) 35,25
2 AR e A .
WA e R b e g | sed cbe s i 1 em o CHANA
WA, T A A s g g sided cubes. What is the percentage ) 30.30 @ 30.30
¥ increase in the surface area afler such o
cutting ? a2
103. =440, @ x T} F oo = is
oy % e 103, 1 7 = 40, then xisequal to
() 4%
@) 300% (1484 (1) 484
(2) 300%
(2) 400 @) 400
3) 75%
& () 75%
(4) 400% S e
B 4) 400%
= —— ()kf, e ) 444 (4) 444
18] 128 129) 1B]
i cle and AB isa
5 T T 104. If 3x + 2y = 14 and xy = 8. then 106. @ 39 W AD IF IW T AB = 106. AD is a diameter of a cire
10 '(‘i » x',j" H*w b (2,xs,,,:) is equal to': dar ¥ @R AD = 34 ¥, AB = 30 chord. If AD = 34 cm. AB = 30 cm.
(275" +8y" ) TR 6 ¥ A E IR AB A g then the distance of AB from the centre
() 816 (1) 816 LE of the circle is equal to
1S
@ 78 @ 78 Hi e
@) 17#& (2) 17em
(3) 832 (3) 832
(3) 43 (3) 4cm
(4) 1228 ) 1228
(4) s (4) 8cm
105.@@%3%&‘!78&".“ 105. The sum of the interior angles of a
. : 6 73-6 6 73-64 &
Fot & am @ Prp B aggE 3 gl regular polygon is three times the sum 107, pFRw S Tt b 107. [ 24+—3—2| ofRs 2iscqulio
1 wem quat k of its exterior angles. Number of sides 7 5‘9 S,q
of the polygon is equal to :
(1) Rs.77
— s () 7759
@ 6 @6 @ ¥R for B39
Rs. 38 50
o7 @7 (3) 3850 5 3)
9.50 598 (4) Rs.3950
i @ @) ¥ fo , s. B

ARy



18] 130]
103,11@%12&13504'5@ 108.
T w4 A F T o @
40 =7 ¥ 7@ in B @ o oW ‘
T 7 |
(1) 4057 2) 41FR
(3) 277 (4) $377
109. ¥ = wEfaE g R E? . 109.
(1) 7 A A
@) R |
(3) S A
(4) T F
10. 7% 5% FET 3 g 9 F ek dm 110.
T s A EE R A TR
i v b AR
(1) 18027 F27
2) Run = T
(3) 120z 7 F
(3) 100z Tt 57
1] 132]
14 TR 23T 033x033-066x233 114,
wa
' 260
) 04
3) 4
) 2
115, 7% O & ofF vl A 63 & @ 83 115,
of A M @ e @ g A @A
& ohwm o5 R 12 @ gfx A ) @
i ot ) don g
(1) 45 (2) 40
(3) 38 ) 30
16, 4R A% s BA m d 250 s b 116.
A B A am AR am A s
AR 7
() 33% (2) 5% |
(3) 20% (4) 15% |
18] 1341
120, wE @ @ o us gw A AR 120,
gt b it @t @ A 12100 #
Az A, A g9 @ e T b
(1) Hot fez
(2) 14000 7 sex
(3) 152007 Hrex
4 15400 7
121, A s oard @1 5 B A wtmww b B 121,
4 fedit § aar A, B sfw € ww # 2 R
A g ow@ B A Cowm @ P
i A AT wEm ¥
() 15fm (2) 20f=
(3) 26 (4) 25
122 “amm @ s A A fem faam Ry 122,
R
(1) fadmo (2) fradm
(3) () P

A shopkecper camed Rs. 504 in 12
days. His average income for the first 4
days is Rs. 40. His average income for

the remaining days is equal to

(1) Rs.40 (2) Rs.41

(3) Rs.42 (4) Rs. 43

Which of the following subjects, is
highly correlated with Mathematics ?
(1) Chemistry

(2) Hindi

(3) Physics

(4) Civies

A conical tent is 9 m high and the radius
of its base is 12 m. What is the area of
canvas required to cover it ?

(1) 180x square meters

(2) 80x square meters

(3) 120m square meters

(4) 100m square meters

233x233+033x033 - 0.66x233
is equal to -

() 2,66
(2) 04
3) 4

@ 2

A student’s marks was wrongly entered
as 83 instead of 63. Due w this
mistake, the average marks for the class
got increased by 12 Number of

students in the class is equal to
() 45 @) 40
3) 35 ) 30

If A’s income is 25% more than B's
income then by how much percent is B's

income less than that of A's income ?
(1) 33% (2) 75%
(3) 20% ) 15%

Perimeter of a square is cqual 1o
circumference of a circle. If area of
square is 12100 square meters, hen area
of circle is equal to :

(1) 440 square meters

(2) 14000 square meters
(3) 15200 square meters
(4) 15400 square meters

A can do a work in 5 days, B in 4 days
and A, B and C together in 2 days. In

what time could C do it alone 7
(1) 15days (2) 20 days
(3) 26days (4) 25 days

. “Unknown to known" is advanced in

which teaching method ?
(1) Synthesis  (2) Analysis
(3) Deduction  (4) Induction

e

[31] IB]
. _‘lz"‘“’-"; b [ m. is equal to
a ) |
a2 @?) 3 m2 @2)ys
(3) 9 “ 11 3)9 @ 1
112, % 7 g 4 ARt gt 7:2425 112, Three sides of a rightangled triangle
% o # ¥ afz fgm @ ofem are in the rato of 7 : 24 25 If the
127 &, @1 7 %1 7= T & perimeter of the triangle is 112 cm, then
length of the hypotenuse is equal to
(1) 5670 (2) 48 (1) 56cm (2) 48 cm
@) 50 #4 (4) 14 (3) 50 cm (4) 14 em
13, @A FHE  (1964-66) 4 A F 113. Which defects among the following
waf qeEER 8 frer FEat 3 8 defects are pointed out in curriculum of
et 7 T & 7 Mathematics by Kothari Commission
(1964-66)?
(i) @ TEEE Ay E (i) Present curriculum is inadequaie
(ii) 7 R aq TeeE wa @ | (1) It has lack of creatve and
ELICR | constructive activities,
(1ih) TEES A A (iii) Cumnculum is over packed
) & Giy @) ()3T (i) (1) ()and (i) (2) (iyand (iiy
() G0 # iy () (D). (i) 3 Giii) (3) (ii)and (iii) () (i). Gijand (i)
133] IB]
17, 65° a7 A apm Fifg 117. Express 65 in radian
n 13n 3 13x
n = 2) — = R) =
N3 @ 35 M3 AN
13n 367 13z 36
3) — [4) — = 4) —
) ® 53 ® 35 T
118. J72.Jn;7n. ..... ® FAAY: 118. The value of Jnﬂhz«hzo,..,x
is:
me 6
@ 8 @ 8
39 @9
12 @ 12
19, o + &t x, + W ond 4« W o 119. If + means x, + means +, x means —
~ ot - @oad s R A 1244328 and — means +, then 124 +32 - 8 +2 x
f2x lETE R 11is equal to :
(1) 120 m 120
2) 121 (2) 121
3) 132 (3) 132
) v &g Tl (4) None of these
(5] 18]
1 2 1 1 $i g
123, % x+—=p, W F45= 123. If x+—=p. then ¥’ +—
x x’ x x

m @ p*+2
@ p -2 @ p*-4
B @ %#ﬁ—%+ﬁ=
(1) 0.1088 (2) 0.1288
(3) 1.0822 (4) 0.1822

afy forlt @t ot @ g a B, @ oW
¥ g a3 & 4% gu @ A% B

()]

Eu

W

@

3

o= si— M-

(O}

m P @ p*+2

3 pr -2 @ pP-a
2 Solve: B4—ieciyL o
124, Selve: 5" 7000 100 " 10000

(1) 0.1088 (2) 0.1288

(3) 1.0822 (4) 01822
125. If one side of a square be a, then area of

the largest circle n it, will be

1_2

1y Lea?

m il

@) %m:

(&) ‘ZM’

@) 4na’

— R
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126, oF T W @ B 1400 B o A0 ‘M.Ommllcoflpﬂmwni:lw’lt‘\d
@123 04 orqua A R dnp the remaining angles are in the ratio
EECEE LR 1:2:3: 4. The largest angle of the
pentagon is equal to :
() 168° () 160° (1) 168° (2) 160
(3) 150° [CURELY (3) 150° (4) 140°
127. 70 37 100 3 7 W) s e 127, Sum of all the prime numbers between
w am k 70 and 100 is :
(1) 492 (2) 385 (1) 492 (2) 385
3 421 ) 419 (3) 421 @ 419
128 RpWEAAA aR M THET | 128 1 g is simple interest on b and b is
@ b ¥ #D A wE A zma simple interest on ¢. Rate of interest and
R R R R e i time is the same in both the cases, then
which of the following 1s correct 7
) @ =he (1) a*=bc
@ b =ca @) b =ca
3 ¢ -ab (3) c*=ab
() abe -1 . (4) abe=1
IB] 28]
12, AR AR ITERE | 13 D cubes of metal, whose edges are

TRE LSRRG
= Rm ek R WA
Eiicid ]

(1) 63
) 45
(3) 530

) 7EFR

133, A ABC #1 9 AC W D 3¢

FPrkar AB=ac A= g
R w7

(1) Cb<BD
2) CD = BD
(3) CD=BD

4 TR @ 2

3. 4,5 em respectively, are melted and
formed into a single cube. The edge of
the new cube is equal to :

(1) 6em
) 4em
(3) 5em
) 7em
133. D is any point on side AC of a triangle
ABC with AB = AC, then which of the
following is true ?
(1) CD<BD
(2) CD>BD
(3) CD=BD

(4) None of these

IB]

137

17

2) =

9

17 9
7 n
17 7

T deed’ afem @ Pm @ @

3

LRl | A
(1) drfem
2) mim
(3) =
4) T 7 sam

139, ‘ﬁhwaawif?n-'rrf.aiﬂvﬁ

TE W FEE @ B R ke ARy

w7

) =z
(3) Heffd @) ==

—_—

2) =7

137. 17 cards numbered 1. 2. 3. . . 17 are
put in a box and mix thoroughly A
person draws a card from the box Fimd
the probability that the number on the
card is a prime number

9 17

m " @ 5

7 17
3) — -
&5 “ 3

138, The book ‘Leclavati’ belongs 10 the field
of Mathematics is
(1) Algebra

| ) Arithmetic

(3) Chapter on spheres
(4) Mathematics of plancts

139, "Mathematics is the language in which
God has written the Universe " Who

said this ?
(1) Newton 2) Kepler
(3) Galileo (4) Locke

_—

137 IB]
? 2 ax 2
129. gy x’+(i) =3a%xe-a @ x 129, If x ‘[—] =3a%ix4-a then
a+x atx
& B o w s b one of the value of x is equal 1o :
1445 avals
o B ) arals MR g e
2 2
1443 a+ad
o) '*Z‘E @ —“;’ﬁ e = 0 ==
130 WRxtyrz=0a x4y 42 : 130. Ifx+y+z=0,thenx'+y 42" .
) xz 2) 29z M) oz (2) 20z
® 3z @ £y 0) 39z @
131, T A T4 B 39 N 6 w7 ¥ B 131. Let A and B be two solid spheres such
’ g FAe 4 @ 9eE e R that the surface area of # is 300% more
300% ¥foF B oA @ @ B @ than the surface area of A. The volume
AR H % TR WA TR of A is % lower than the volume of A.
Then value of r is equal 10
(1) 855 (1) 855
() 875 2) 87.5
(3) 905 (3) 90.5
@) 925 @) 925
139] IB]
134. RCEM Tt 3 srqame s B - 134. According to RCEM approach, the
correct order is :
(1) o/, w1, s (1) Input, Output, Process
2) w1, s, =y (2) Output. Process, Input
(3) B, s, w=r (3) Process. Input. Output
[CRCEE £ (4) None of these
135. 60 e T qu v oFh B Prsr ¥ 135. A mixture of milk and water weighs
10% o B 1 588 Reeen ot P o 60 litres which contains 10% water.
5 it 25% B am 7 How much water should be added to it
so that water may be 25% 2
(1) 10¥eT ) 9 @z (1) 10 litres @) 9 litres
3) 12d @) 15 dex (3) 12litres (@) 15 litres
2
136, o (L) -{LJw:o. &
x+1 x+1

u%)amwmk:

ms @ 6

1 1 1 1
3) 1- 3T 1 = =
3) 3 Is “) 3 m]
-_—

l41)
140. &N B 2 4y w5, Iyeq

M3 4 dy = kg R, Ak
*

m
@ 2 |
3 s
“) 10

T @ 8 1 1 & s om
1) el @ @A & R fre
A A B sfow e @ ?

() sl ahenst @ Fwh 3 m
Fr

(2) Z2 #1 AT T
(3) 3 TN & 3 B P we

) T F wate vt 3 e
A e Fow

2
136, 1f (—" ) s L ].s-o‘ then the
x+1 x+1

positi' 'Vevllltof(hl] isequal to
x

ms @ 6

i 1
@geris @zl

18]

140. The sysiem of cquaions 2y

x -3 Tamd 3¢ 4y 4

consistent, then & is cqual 1o

m1

) 2

3)s

“) 10
141,

Siddhant is a gifted student of $1h ¢lass

in Mathematics. Which of the following

will help him most increasing his

abilities ?

(1) Helping him 10 prepare  for
competitive examinations

(2) Making class monitor

(3) Teaching him additionally on
advanced topics

(4) Helping him to develop projects
related to Mathematics



18]

142, 4% B ABC @ AD s B i
AC R P g g s b s A

142)

(A ADP) : 3% (A ABD) =2 :3, @
A (A PDC) : A (A ABC) FaT
k.

(M 1:5

) 5:1

(3) 1:6

@ 6:1

142, 1f AD is median of triangle ABC and P
is a point on AC such that arca (A ADP) ©
arca (A ABD) = 2 : 3. then arca (A PDC)
arca (A ABC) is equal to

(y 1:5
@) 5:1
(3)1:6

@ 6:1

143, Rl ot % 8 @ A @ A 800 143, There is 80% increase in an amount in
gl AR B 14,000 Fo w3 AW 8 years at simple interest. What will be
A R A a7 the compound interest of Rs, 14.000
after 3 years at the same rate ?
(1) 4634 Fo (1) Rs. 4634
(2) 3714%0 (2) Rs.3714
(3) 3794 %o (3) Rs.3794
(4) 4612%0 J (4) Rs. 4612
1B [44)
a6, Fisi siwd & f #AE T8 FF | 146, Which one is correet for the following
%7 data?
-2,2,1,0,5.4,5,7.5.11.12 -2,2,1,0,5,4,5,7,5,11,12
(1) e = s - TS (1) Mean = Median = Mode
(2) wifors = T (2) Median = Mode
(3) WmA=5 (3) Mean =5
(4) W9 = EE (4) Mean = Mode
147, TF Hom o AR AR W WM, W 147. The sum of a number and its reciprocal

#om T THE qEN S | P
| @ wn TA &

[B]

150. 7w % GrzAgEE § e B e

AT AR

is equal to twice the difference of the
number and its reciprocal. The number
is equal to :

m2
@3
3) +45
@) 42

(1) F=ATF 3 JFER
(2) WrEEEA F AR
(3) Tl 3 srgar
@) T § Bg T

144,

143 IB)

R dead 3 5 @ orgwa A R AR 144, Two numbers arc in the ratio of 3 - 5. I

Q9B g o B, @ Al 3
w12 23 & ww R i
o ¥
mn @) 55
3) 50 @) 35

n AR @ W F W
it 7 gm qmET R

(1) (n-2)x 180°
@) guw
B) (n+2)x180°

“@) '—J':uo'

[45)

el s & st A 60% @1 gfE A
ah b owE ded @ fem dawm |
e AR, 5 e dEeA A we
w7

m 374%

2) 60%
3) 75%

(4) 120%

., “nom mem @ o R @ owE |

fory & fem g & wafam k7 [
|

(1) wiegfs

(2) S Fd

(3) s

(4) FuiE wh ‘

[46)

9 be subtracted from cach, then ratio
between numbers becomes 12 : 23
Second number is :

mn @) s5

(3) 50 ) 35

. Sum of all interior angles of a polygon

with 7 sides is equal to :
(1) (n-2)x 180°

@) —;-xmr

(3) (n+2)x180°

) %’xmr

1B]

. The length of a rectangle is increased by

60%. By what percent the width b
be decreased to muntain the
arca ?

(1) 374%

2) 60%

(3) 75%

(4) 120%
“Mathematics is the murror of civilization

This statement corresponds 1o
value of Mathematics *

which

(1) Cultural
(2) Disciplinary
(3) Social

(4) All of these

150. The organization of content in the text
book of Mathematics should be :

(1) According to Teacher
(2) According to Curriculum
(3) According to Students

(4) None of these



